
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

La mejor parábola para un conjunto de n parejas por el método de mínimos 

cuadrados es: y=ax^2+bx+c, con a, b, c dados por: 

 

 

a = ((sumax2y * sumax2 * n + sumaxy * sumax * sumax2 + sumay * sumax3 * 

sumax) - (sumaxy * sumax3 * n + sumax2y * (sumax) ^ 2 + sumay * (sumax2) 

^ 2)) / ((sumax4 * sumax2 * n + sumax3 * sumax * sumax2 + sumax2 * 

sumax3 * sumax) - ((sumax3) ^ 2 * n + sumax4 * (sumax) ^ 2 + (sumax2) ^ 3)) 

 

 

b = ((sumax4 * sumaxy * n + sumax3 * sumay * sumax2 + sumax2 * sumax2y 

* sumax) - (sumax3 * sumax2y * n + sumax4 * sumay * sumax + (sumax2) ^ 2 



* sumaxy)) / ((sumax4 * sumax2 * n + sumax3 * sumax * sumax2 + sumax2 * 

sumax3 * sumax) - ((sumax3) ^ 2 * n + sumax4 * (sumax) ^ 2 + (sumax2) ^ 3)) 

 

 

c = ((sumax4 * sumax2 * sumay + sumax3 * sumax * sumax2y + sumax2 * 

sumax3 * sumaxy) - ((sumax3) ^ 2 * sumay + sumax4 * sumax * sumaxy + 

(sumax2) ^ 2 * sumax2y)) / ((sumax4 * sumax2 * n + sumax3 * sumax * 

sumax2 + sumax2 * sumax3 * sumax) - ((sumax3) ^ 2 * n + sumax4 * (sumax) 

^ 2 + (sumax2) ^ 3)) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://drive.google.com/file/d/1UyoFaGsZ57nnUzVnyWueerRduKy779Cz/view?usp=sharing 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


